EXAMPLE OF INCOME FOR
VARIOUS MINIMUM ALLOWABLES

2000 x .12 MCF = $240.00

Less .125 royalty - $30.00

Less well operating costs 70.00 100.00
Gross monthly income $ 140.00
2500 x .12 MCF = $ 300.00

Less .125 royalty 37.50

Less well operating costs 70.00 107.50
Gross monthly income $ 192.50
3000 x .12 MCF = 375.00

Less .125 royalty 46.87

Less well operating costs 70.00 116.87
Gross monthly income $ 258.13
8000 x .12 MCF = $ 960.00

Less .125 royalty 120.00

Less well operating costs 70.00 190.00

Gross monthly income $ 770.00



